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| Time: 35 Minutes | Paper Math 6 (T-1) |  Total Marks: 25 |

| 2nd Month, 3rd Week, 6th Day | Revision Test (2nd Week) |

Q.1. Choose the correct options. 1x13=13) - /.fl?"'l(_.«lﬁw/;

(i) The inverse process of addition is called: 29[‘:11«;()"f .‘Jfﬁf‘
(a) | addition Cf (b) [ subtraction Lf" (c) multiplicationb.«/" (d) [ division (..’M

(ii) The product of —150 and -3 is: :c‘;t‘n*ﬁf b—3.51-150

(a) 50 (b) +450 © 450 d ~100

(iii) The sign of the product (—6)x(—6)x (—6) x (—=6) < (—6) x (—6) x (—6) is:
‘e P KU (—6) X (—6) X (—6) X (—6) X (—6) X (—6) x(~6)

() + (b) X (c) - (d) -
iv) S+[3_-2.2)-9
™ +(7 7 7) '
1 1 1 13
(@) 1 > (b) 1 o1 () 28 @ 28
(v) Ratio form ofi is: ‘étﬁ‘?’g?
(a) X:Z (b) Z:X () yiX (d) Xy

e S 40:70

(vi) 40:70 in fraction form is:

70 40 4

— b — - d)| bothb &
(@) 40 (b) 70 () 7 (d]| bo c
(vii) The simplest form of 25:45 is: e u_’/"utrd/ 25:45
(a) 5:3 (b) 9:5 () 5:4 (d) 4:5

(ix) The product of three negative integers is always:
et AL EEE
negative Lf" (b) | positive &l () ]|even =& | (d) | odd ab

(a
x) (33.5+90-70)x0="

N=

@@ 2545 |m®)| 2545 © 0 () 147

1

(xi) What is the simplest form of 25:15? I‘Lgﬁ 04 7o;l/d/ 25:15
(a) 5:3 (b) 9:5 (©) 5:4 (d) 4:5

(viii) Ratio form of % is: Z‘ay G" %
(a) 103:101 (b) 101:103 (©) 101:107 ()] 103:107

(xii) Ratio form of % is: 34"-& G’J J %
(a) 5:3 (b) 3:5 () 2:1 (d) 2:3

(xiii) The simplest form of 25:45 is: =Y 7o;l/d/ 15:25
(a) 3:5 (b) 6:5 (©) 5:4 (d) 4:5

Q.2. Answer the following questions: 4x2=8) - ;gzai;uu«d 31O0%)

(i) The difference of two integers is 185. If one of them is 400, then find the
other integer.
-u“/,"»)'wé‘!/»?mooug‘ﬂufﬁ.c‘_1850/'6!;:1 33

(ii) The sum of two integers is —105. If one of them is 95, then find the
other.

- /’?)"3%5"/»?;195..@:.()5 uf/ﬁ.c"_—l()S,uf K;wéj;
(iii) In how much times Raheel will cover 60 kilometres distance with a

speed of 10 kilometre per hour?

?b’g/&gﬂ{)(j‘é__/&d/g&ffﬁ10.145(/"5){60‘).'.%/

(iv) Write each of the followin in ratio form.
- PFE it

. X o a-b
(l) X+1 (ll) p+q

Q.3. Akbar is a shopkeeper. He sold 8% kg rice, 6% kg sugar and 12% kg

flour. How much did he sell in all? (1x4=4)
(LUt es T 120 GEE 6 g S 87 L Ule sl
(‘“Lf:»;/l:f



